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: SAMPLE TEST
GAS TECHNICIAN APPRENTICE ENTRANCE EXAM

1. Multiply and simplify.

K By =
4 >y

o

2. Divide and simplify.

12y = 6
5y3 15),5 =

3. IfRick wanfs to cut a 10°stick of conduit into 6 equal lengths, what length must
be cut? Hxpress your answer in feet and inches,

10+ 6 =

Each piece would measuore 1°-8”

4. Subtract and simplify.

15-2/3 - 3-1/2




5. Simplify
2y =
Xy’

6. Simplify,

6y =
9y’

7. Find the perameter of the shépe below:
Parameter = C ¥ + )

2
i I i —
AL +

. L ; (Two semicircle +
b~ ot —} two legs for
rectangle)
Parameter =

8. What is the tax percentage if an fiem costs $ 14,50 but you are charged $15.007

% = 15.00-14.50 =
14.50




9. Subiract;

I

>4 -

o
O i

10. Solve for variable and simplify:

3y-8=16

11, Mukiply:

43%"-2x+1) =

12, Multiply:

Cx-1)(3x+2) =

13. Find the area of the triangle,

Area =
Area=
Area =




14, Find the area for the circle:

15, Using Phythagorean Theorem (c*= &% + b%) find the length of a,

b=12 c=18

a=9

16. If a bike wheel is 26” in diameter, how far will it fravel in 10 revolutions?




17, Find the volume of 1" pipe that is 10’ long? 1LD. of pipe is % inches.

18, The two rectangles shown are similar, Find the width of the smaller rectangle,

T
s




19, Jim is going to pour a concrete patio. The patio is 15” x 25°, Thersisa free in the
middle that requires a 4* diameter opening, How many yards of concrete will Jim need if

the patio is 6™ thick?

i3 Al

A 4d




SOLUTIONS TO
AGT PREPARATION GUIDE




1.

SAMPLE TEST
GAS TECHNICIAN APPRENTICE ENTRANCE EXAM

Multiply and simplify.
R 8 o= Jexaxaxax  -2%22%%
4 " ooy 2s 2 Je Je s XaX

. /2’-/ .1 ,(_’-;-'x*lx = -2exex = - 2%
00 P

Divide and simplify.
12y = 6 2¢2e3ey . 3 Seyryeveysy
5)’3 15)75 T Seyeyey 2e3 =

2 s uepyhoyoyny = DBeysyey = 6

7 i

If Rick wants to cut a 10°stick of conduit info 6 equal lengths, what length must
be cut? Express your answer in feet and inches.

W0+ 6= 10 =235 = 5 of a foot or 1-2/3°
6 23 3
230f1277 = 24 = 220y = 8 inches
3 7
Each piece would measure 1°-8”
Subtract and simplify.
15-2/3 -3-1/2
1523 47 2 94
~37 =-_3 ~ _2 = - 6
1 3 21
2 3 6
94-21 = 73 = 12-1/6




5. Simplify

x315 = Kaxe = x% =
Xy rFA YR VY vy Ye¥e¥ey

6. Simplify. )
1 .
ﬁi = ﬁ)% = 22 o Fw o o
9’ 81y /3/75.3.3, P EREE]
232
- 3 Buysyayy = 9y

7. Find the perameter of the shépe below:

—,f.—.—.
o

e

1o¥t ._._,,},.

Parameter = (2x 1) + (2x 10%)

EE_'Q « n@’j F207 = (21 % 3)+20”
2

= 38.85”

W

Parameter = C + + )

(Two semicircle +
two legs for
rectangle)

8. What is the tax percentage if an item cosis $14.50 but you are charged $15.00?

% = 15.00—-14.50 = 0345
14,50

0345 x 100=3.45%




9. Subtract:

& - x 4x 4x . 2 8x
3 6 - _3 = 3 2 = 6
X X X
6 6 6
8x - X =T7x
6 6 6
10. Solve for variable and simplify:
Jy-8=16 = Jy—-8+8=16+8

3y=24:¢'-/%/ = 24 = Z8

y=8

11, Multiply:

4032 -2x+1) = 435 —42x+4 1
1222 - 8x + 4

12, Multiply:
Cx-1D(3x+2) =  2%:3x +2x02-1+3x-1°2
= 6%+ 4x - 3x—-2

=6xPHx -2

13. Find the area of the iriangle.

Area=1hsh
Area = Yo (247 (127}
Area= 144 in®

L e -

-~

02"{,“




14. Find the area for the circle:

R =8 feet
Area= 75>
Area= m{8")?
Area= g 64
Area =201 fi*

15. Using Phythagorean Theorem (¢*=a® + b?) find the length of a,

b=12 c=18§ e gt 4 bt
a2=02_b2

a =\)‘ & —b?
a x\! (18Y—(12)*

a="7? a=134

16, If a bike wheel is 26 in diameter, how far will it travel in 10 revolutions?
One revolution = circumference of wheel
Circumference = 2xror nd=(26")4y
Circumference = 81.68 inches
Total Distannice = 10 x one revolution

Total Distance = 10x% (81.68")

= R16.8 inches




17. ¥ind the volume of 1% pipe that is 10° long? LD. of pipe is % inches,
Volume = Volume of g eylinder = Area circle x height

Areaof circle = #1” or nd’
2
Area of clrcle = 7(, 75 = 0.4418 in?
2 ’ .
Height=10" convert to inches

1 x 12”2 = 1207
13

Volume = Area O x Height = 0.4418 x 120
Volume = 53.0 in®

18, The two rectangles shown are similar, Find the width of the smaller rectangle,

g = W
20 5
[ 1w ,
’ | 5 58 = W,
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19, Jim is going to pour a concrete patio. The patio is 15 x 25°. There is a tree in the
middle that requires a 4° diameter opening. How many yards of concrete will Jim need if

the patio is 6" thick?

, Areamm-' 0
, ,
13 7@“‘#’ Areaf T W x L =15 x25°

J_ Avea =375 2
257
Area O = nr* =g (DP =  m@i= w = 12.6f2
. 2 .

Total Area=[J-0 =3758" - 12.6 f*

Total Area = 362.4 fi?

Volume = Area x Thickness = 3624 f* x % &

Volume = 181.2 f1°

Yards of Conerete = 27 £t per yard

Total Yards of Concrete = Volume - 1812 f
27 . 27

= 6,7 yards of concrete
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